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1. (a) Find an equation to describe the relation between a,b,c in order to the following system be
\?f X3 consistent
!
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~ (b) For given
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determine whether b can be written as linear combination of the v1,va,vs such that A =
[VI)V21V3]
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2. (a) Write a matrix equation that determines the loop currents. Do not solve!
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(b) Consider the linear transformation T° whose standard matrix is

Al {P* =

(i) Is T 1-1? Show your work
(ii) Is T onto? Show your work.
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4 -2 5
3. (a) Find the inverse of A = 1 1 0 | using row operations, if it exists. State whether the
{;Fé > -1 -3 2
column vectors of the given matrix linearly independent or not.
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(b) Find an LU factorization of the given matrix
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4. (a) Compute the determinant of the given matrix using cofactor expansion.
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"..4{b) Use Cramer’s rule to compute the solutions of the following system.
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